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Zadanie 1

Dana jest rama z pretow Scisliwych;
obcigzenie termiczne -
roOwnomierne

na zaznaczonych pretach
Sporzadzi¢ wykres M.

The given frame

of extensible bars is subjected to
a thermal load indicated.
Construct the diagram

of the bending moment M.

‘\._-—-1

Zadanie 2 —
anic H‘

Dana jest rama z pretow ;

1
Niescigliwych. N

N

N

Zapisa¢ rownania okreslajace

4}

rozwigzanie zadania. {77:‘
-
|

The given frame is made i

of inextensible bars.

Find the equations *l_ fﬂ‘
1

.I//l

determining the solution.
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Zadanie 3
Dana jest rama

z pretow niewydtuzalnych, o EJ=const.

Sporzadzi¢ wykres ugigcia preta AB.

The given frame

is made of inextensible bars.
EJ=const.

Find the deflection function
of the bar AB.
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Grzegorz
Pływające pole tekstowe
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